
Part No:  6183600-793 Prima Pro Issue: 1.1 
Printed on: Sep, 2024 

Prima Pro 
Service/Part list Manual

Operating Surgical Microscopy 

To ensure proper use of this instrument as well as to avoid injury while operating instrument, understanding 
this manual completely before use is highly recommended. 



Part No:  6183600-793 Prima Pro 

  CONTENTS 

1 Base & Column Assembly  1 
2 Swivel Arm Assembly 2 
3 Suspension Arm Assembly 3-4
4 Carrier Assembly (ABA) 5

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

1. BASE & COLUMN ASSEMBLY – PRIMA Pro

Item Part No. Description Qty. 
1 6165000-897 Assy. Threaded Plug 1 
2 6134000-131 Rear Shaft 1 
3 SS – 800 SOCKET FLAT HD SCREW M6x16 3 
4 6165000-895 Pillar 1 
5 6182001-532 Base Top 1 
6 6182001-145 Guide Plug Column 1 
7 6310000-201 Side Cover base 5 
8 SS – 707 M10x40/SCHS 10 
9 6182001-852 Leg With Coil Spring 5 

10 SS – 659 M3/5.2/PAN/8.0!10.0)/DNA 10 
11 6152001-530 Base Bottom 1 
12 SS – 721 Allen Bolt M10x70 3 
13 SS – 728 M12x75/SHCS 5 
14 6134000-272 Castor Wheel Without Lock 3 
15 6134000-274 Castor Wheel Lockable 2 

_____________________________________________________________________________________________.1 

15 

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

2. SWIVEL ARM ASSEMBLY – PRIMA Pro

_____________________________________________________________________________________________.2 

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

3. SUSPENSION ARM ASSEMBLY – PRIMA Pro

_____________________________________________________________________________________________.3 

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

SUSPENSION ARM ASSEMBLY – PRIMA Pro (continued) 

______________________________________________________________________________________________.4 

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

4. CLUTCH ASSEMBLY – ABA PRIMA Pro

_____________________________________________________________________________________________.5 

Issue: 1.1 
Printed on: Sep, 2024 



Part No:  6183600-793 Prima Pro 

5. CARRIER ASSEMBLY –  PRIMA Pro

_____________________________________________________________________________________________.6 

Issue: 1.1 
Printed on: Sep, 2024 



Manufactured By:

Labo America Inc.
920 Auburn Court

Fremont, CA
94538
U.S.A.

Phone: 510-445-1257
Fax: 510-991-9862

Email: 
sales@laboamerica.com
www.laboamerica.com  

Labomed Europe b.v
Essebaan 50

2908 LK Capelle aan den IJssel 
The Netherlands

Tel: +31 (0)10 4584222
Fax: +31 (0)10 4508251

E-mail: info@labomedeurope.com
 www.labomedeurope.com

A16372 ISO 13485:2016

LABOTECH MICROSCOPES INDIA Pvt Ltd


	Blank Page

